023} 22 AABC 7} i}, AB =
20cm 2t & o, x o] do]&?

D 8+3cm @ 9v3cm

©) 10\/§CH1 @ 11 \/gcm

® 12V3cm




2. o adelA 4A
Tafolat,
(&, PA,PBE Y0 9




th2 1o A /B = 60°, AB = 16cm, BC =
12cm, AE = 9cm 4 o, DF ¢] Zo]&? (H,
AD,E,F & HH)

® 4V3em @ 5cm ® 5v2cm
@ Tcm ® 8+2cm




4. o2 I3 o] 9 0 of sk SHANE[E ABCD oA AD =
8cm , BC = 18cm € @, ¥ O 9] ¥tz &2 Zo]&=?




5. & ™A ABE= Y 0 9 A|Z0o|1, /COD = 48° ¢ o], ,CPD
o] 27|& “Fotofet.

@ 60° ® 62° ® 64° @ 66° ® 68°



TS 189 9 0 oA 5.0ptCB L 99 Seflo] Aojo] W ujel A
“s}olat.




7. TS oA oABCD 7} Yo AT o, A
/BDC ©] 37]=9 .

BE 70°

@D 50° @ 55° 3 60° @ 65° B 70°



th2 1o /P =35°, /Q=25°¥
o], /ABC ¢] 27]:2?

@ 53° @ 57° @ 60°
@ 63° ® 67°




oS 2y Zol 9 0 o WHsE=E o7
3 ABCDE 9|4 /ABC = 100°, /CDE =
125° 0], AO = 6cm € o], B4& AOE

o Wole?

@ mem? @ 4mem? ® 6rcm?

@ 9rcem?2 B 1lmcm?



10. o2 H A, B,C,D 7} ¥ Yol & o], zx + 2y & 27]&2

@D 90° ® 100° 3 110° @ 120° B 130°



5

tanCsinC 9] gto =2 vr=24 F+

AL

61
255
o
9255

)
®

63
255
67
9255

)
O]



12. 30° <A <90° ¥ o, (smA + ) \/(sin30° —sinA)? ©] 3t

57

@ 2sinA @ 2 ® =sinA
@ 1 3 0



th3 AFZHe] o] 5 B 17 sin 49° + tan 30° — cos 48° 9] 3FS oozt
Zte | AfQl(sin) | FAFRI(cos) | EHHIE (tan)
30° 0.6293 0.7771 0.8098
40° 0.6428 0.7660 0.8391
41° 0.6561 0.7547 0.8693
42 0.6691 0.7431 0.9004




14. A% A 4 g & AW A, B Aol9] A To17] fstel th
293} 2ol Zstodct. of W, AB o ol Tetofeh




15.

P 3} Zo] "z &5 2] Zol7} 16 91 HHolA /BAC = 30° ¢ ),
At BB ol Yol & L5loa},



